Grl2V/RING - SUMO G4

L1 L2

ey 2Ny F vy

%l R\ B
] MITAKRILA —
-8 |ZEYaAZHL VS >
k. -
,i 3 X LESHERY Y 1— ‘l/. -
B CHAMRING I &E¢7.5-¢25.9
~1i2 (mm) HWE KU %
7 DCNS | DCM | DCNS )
7
= 7JIJ¢ID?§ o0& ¢D1| Li |L2|¢d|edi| Ls | 3DT | 35D® | 5D@ ﬁ«z“’; /
S Ls(min-max) | Ls(min-max) | La(min-max) #
7579 | 8| 188 | 474 |50]20|25] 136 | 1825 | 124219 | 2040 | 075
kil ® | 5084 | 8/188 474 [50]20(25] 146| 1925 | 140230 | 2947 | 080 CCGT 06
8589 | 9| 198 | 474 |50|20|25| 155 | 1827 | 151-266 | 24-44 | 085

Rthniheinhisdtbaha il © | 0094 | 9| 198 | 474 [50(20(25[ 164 | 1829 | 156271 | 2747 | 090

9599 [10|249|673|60|32(38| 1.73 | 21-31 17.2-29.2 3450 | 095
10.0-104 | 10| 24.9 | 67.3 |60|32|38| 1.82 | 22-34 14.3-28.3 39-54 100
10.5-109 [11]25.9 | 67.3 |60|32 |38 1.91 23-36 14.4-29.4 38-57 105
11.0-11.4 |11]25.9 | 67.3 |[60|32|38| 2.00 | 23-38 18.0-31.0 41-60 110
11.5-11.9 [12] 269 | 67.3 |60(32|38| 209 | 23-40 15.6-33.1 41-63 115
12.0-124 | 12| 26.9 | 67.3 |60|32|38| 2.18 | 24-41 19.2-35.2 44-64 120
125129 [13]27.9 | 67.3 |60|32|38| 2.27 | 24-43 19.3-37.3 48-67 125
13.0-13.4 |13 ] 279 | 67.3 |60 |32 |38 | 2.36 | 25-44 21.4-384 50-70 130
13.5-139 (14| 284 | 67.3 |60|32|38| 245 | 25-45 19.5-39.5 50-72 135
14.0-144 | 14| 284 | 67.3 |60|32|38| 254 | 25-47 215415 50-72 140
14.5-14.9 |15] 294 | 67.3 |60|32|38| 263 | 26-47 20.1-42.1 52-75 145
15.0-1569 | 15| 29.4 | 67.3 |60|32|38| 2.72 | 26-50 25.2-43.7 55-80 150
16.0-16.9 [ 16| 30.4 | 67.3 |60 |32 |38 | 2.81 31-58 26.3-49.3 65-90 160
17.0-17.9 | 17| 31.4 | 67.3 |60 |32 |38 | 2.91 29-58 28.4-52.4 64-91 170
18.0-189 |18 324 | 67.3 |60|32|38| 299 | 31-61 31.0-57.0 67-97 180
19.0-199 | 19| 334 | 750 [60|32|38| 3.28 | 32-62 323633 | 72-103 | 190
20.0-209 |20 | 34.4 | 750 | 60|32 |38 | 364 | 4576 36.6-67.1 | 84-115 | 200

CHAMRING 100-WN32-09 °

CHAMRING 110-WN32-09 °

CHAMRING 120-WN32-09 °

CHAMRING 130-WN32-09 °

CHAMRING 140-WN32-09

[ ]
N

CHAMRING 150-WN32-09

CHAMRING 160-WN32-09
CHAMRING 170-WN32-09
CHAMRING 180-WN32-09
CHAMRING 190-WN32-09
CHAMRING 200-WN32-09

XCGT 09...

CHAMRING 210-WN40-09 21.0-219 |21 | 354 | 844 |68 |40(50| — 40-72 - 82-112 | 210
CHAMRING 220-WN40-09 22.0-229 |22| 364 | 844 168|40/50| — 44-76 - 88-118 | 220
CHAMRING 230-WN40-09 23.0-239 |23| 374 | 844 168|40|50| — 47-79 - 92-123 | 230
CHAMRING 240-WN40-09 240-249 | 24| 384 | 844 168140(50| — 50-82 - 99-128 | 240
CHAMRING 250-WN40-09 250-259 |25|394 | 844 |68 40(50| — 54-85 - 104-134 | 250

CEBINIECIE, AT - MURZHAT IS 2B LE T, - RAEBNESEE TOMIEZ, X) &RE £50%FEHIHK L TF &0,
cLmin&Llmaxid45° @A F v TEABEZEICLTVWEYT, -EA (@) BMERFYFICLVELRYET,
(1) DCNS - 3D{#MArE (2) DCM - 3.5D{EMARE  (3) DCNS - 5D
HLsTEEANY RICEWELR DA, EMICTEHAIE BBEVWRLET,
WE KU 2=HLKYIL : DCM-3.5D (7.5-20.9 mm 3.5xD) . XEY1=#L : DCNS-3D. DCNS-5D
Fy 7 XCGTOS... XCGTO09...
A 30° [ 45° [ 60° | 30° | 45° | 60°
YA X 1514525/ 15|6.0]35
MERAIZHLRYILAy REBFBORAERNY 1 X

:\.':B =]
APAAR

YA RKXT) 21— L>F |AbyN=Z9a=| LOF |FyTRIYa— | MIRX-|MVIXTL =K/ RIL
(75 NN (RO EDEVENE SR M6X6 DIN916 HW 3.0/ SR M6X1S HW 3.0 |SR 14-560 T-8/53 - -
(07 VN (ERTEZDIE SR M10X10 DIN916 HW 5.0/ SR M10X1.5S | HW 5.0 |SR 14-544/S - BLD T15/S7 | SW6-SD
(97 PV N (e PR EPEHE SR M16X16 DIN1835-B | HW 8.0| SR M12X1.75S | HW 6.0 |SR 14-544/S — BLD T15/S7 | SW6-SD

hL) > TEERE (H7TESR) KU REUESHAESE
1YARZRT) 21—, FyTRATV21—%58ED, BBRATV1—FEBLTTFEL, 1TEHRFY TORTY) 12— &BDET,

2. RYIEAHE., RILA—HBBDRT)1—CTRHELEIEFRLTTEL, 2HA RXTY1—%BHET,
B.RUNERH LEIHEES. Y1 K7 Y1—CEELTTEL, B.RUILEREET,

AERF Y TEEEBELET, 4BEDZX ) 12— T, BHLES #HE,
BAy REEEBELET, 5.RUIWEALYCTICEBALEY,

6.1 KX 1— %8t r%,
7THERF Yy TOX T 1 —%&EFTET,




